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- A9 Oyl - Mg 5 3 FElA FE F) (=7 ~ -T4%)
As 5 87 FEIA B Za (10 ~ 25%)
- Ad 59 UE: As 557 REoA BE A (18 ~ -T1%)

Ni 5 67} &&FNA 5= F7F 6 ~ 39%)

- Y (Pb)& 0.0019ug/mi 2 &4 7130.5ug/n)e] 0.4% FZF<
- AFe)2 0.1718ug/m 2 127 & = 714 =& =52 v
- Fe(0.1718) > Ca(0.1040) > Mg(0.0996) > Al0.0480) > Mn(0.0214) > Cu(0.0025) >

Ni(0.0026) > Pb(0.0019) > Cr(0.0011) > As(0.0006) > Cd(0.0001) > Be(0.0000)

(SH2 =g/ m?)

T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al

5t 11 ]0.0005|0.0013|0.0001|0.0008 | 0.0029 [0.0708 | 0.0003 | 0.0900 | 0.0000| 0.1143|0.0014 | 0.0277

FM 15 ]0.0005|0.0016 | 0.0002 | 0.0023 | 0.0118 {0.2155 | 0.0023 | 0.1199 | 0.0000 | 0.1396 | 0.0036 | 0.0794
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[FY
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o

= 16 | 0.0004 | 0.0062 | 0.0002 | 0.0075 |0.0299 [0.4179|0.0157 | 0.1487 | 0.0000 | 0.2561 | 0.0085 | 0.0549

Otz 12 10.0008 | 0.0027 | 0.0001 | 0.0047 | 0.0493 | 0.2289 | 0.0007 | 0.0890 | 0.0000 | 0.0581 | 0.0025 | 0.0368

gz 13 | 0.0006 | 0.0019 | 0.0001 | 0.0026 | 0.0214 | 0.1718 | 0.0011 | 0.0996 | 0.0000 | 0.1040 | 0.0025 | 0.0480

H = 15 10.0017|0.0061 | 0.0004 | 0.0028 | 0.0342 {0.2385|0.0020 | 0.0797 | 0.0000 | 0.0846 | 0.0064 | 0.0437

e ¥ 14 10.0017 | 0.0046 | 0.0004 | 0.0023 | 0.0259 [0.1499|0.0027 | 0.0813 | 0.0000 | 0.0978 | 0.0018 | 0.0382

- -65% | -69% | -74% | -7% | -38% | -28% | -44% | 25% 0% 23% | -61% | 10%
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p HEsE(214 8Y)

Z4+(Ca)< 0.1143g/ni 2 127) & ZF 714 =2 =52 e
- AY oiH] = 9/ FENH 5 A (-10 ~ -87%)
Mg# Ca2 &% 57} (47%)

- Ad € U¥] - As T 8 FEAA TR i (-33 ~ -92%)
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T e PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 11 0.0005 | 0.0013 | 0.0001 | 0.0008 | 0.0029 | 0.0708 | 0.0003 | 0.0900 | 0.0000| 0.1143|0.0014 | 0.0277
- 15 10.0014|0.0042 | 0.0004 | 0.0013|0.0057 | 0.1068 | 0.0005 | 0.0610 | 0.0000 | 0.0779 | 0.0034 | 0.0309
HEsE 11 0.0012 {0.0026 | 0.0007 | 0.0015 | 0.0047 | 0.1050 | 0.0010 | 0.0618 | 0.0000 | 0.1056 | 0.0000 | 0.0629
e E‘: - -63% | -68% | -87% | -36% | -49% | -34% | -51% | 47% 0% 47% | -60% | -10%
oo&E
%) :%i% - -58% | -49% | -92% | -42% | -39% | -33% | -74% | 46% 0% 8% |-100% | -56%
O BAE SAHL
- F(Pb)2 0.0013pg/m 2 273 7]=0.5ug/m)2] 0.3% =Y
- AFe)2 0.2155pg/mi 2 127} &5 F 718 =& 552 Yk
-4 U4 - As & 8 FES T T4 (-23 ~ -79%)
T N FEAA T 7t (23 ~ 119%)
- 29 € U] : As & I FHANA TR A (-20 ~ -66%)
Ni & 87 F&HAA s T4 8 ~ 171%)
(SHl g/ m)
T = PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 15 ]0.0005|0.0016|0.0002 | 0.0023|0.0118 | 0.2155|0.0023 | 0.1199 | 0.0000 | 0.1396 | 0.0036 | 0.0794
= 16 [0.0016|0.0079|0.0006 | 0.0040|0.0278 | 0.2808 | 0.0044 | 0.0809 | 0.0000|0.1139|0.0101|0.0363
HEsd 15 ]0.0014|0.0049|0.0002 [ 0.0018|0.0102 | 0.1450| 0.0022 | 0.0885 | 0.0000 | 0.0913 | 0.0016 | 0.0293
%z% - -68% | -79% | -69% | -41% | -57% | -23% | -47% | 48% 0% 23% | -64% | 119%
k=
%) | &
E%H:é' - -62% | -66% | -20% | 33% | 16% | 49% 8% 35% 0% 53% | 127% | 171%
O BUE A&
- FPb)E 0.0062pg/m 2 37 7] 205/ 1.2% FF=
- AFe)& 04179 g/m 2 127) &5 F 71 & =5 vehd
- @ ¢ dy] : As, Cde 5% A4 (-15 ~ -78%)
Pb & Il &&FA = T4 (28 ~ 149%)



(SH g/ m*)

T PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 16 [0.0004|0.0062 |0.0002 | 0.0075|0.0299 | 0.4179|0.0157 | 0.1487 | 0.0000 | 0.2561 | 0.0085 | 0.0549
HEsd 16 [0.0016|0.0048 | 0.0002 | 0.0037|0.0195|0.1877|0.0063 | 0.0927 | 0.0000 | 0.1438 | 0.0046 | 0.0401
<
|I:_|'||T| - -68% | -79% | -69% | -41% | -57% | -23% | -47% | 48% 0% 23% | -64% | 119%
s
(%) | ©d
2 - -78% | 28% | -15% | 102% | 54% | 123% | 149% | 60% 0% 78% 85% 37%
CiH

- F(Pb)& 0.0027pg/nd & 7 7] 20.5ue/n)2) 0.5% FF=
HFe)2 0.228%g/m =2 127 38 = 71% & =52 Jehd
- A€ ¥ : As T 107/} FENA T A (-6 ~ -67%)
Nie &% 57} (49%)
- 2d &€ Y] : As T S dEAA TFE A (-29 ~ -71%)
Ni 5 67] &EoA % ZA 8 ~ 132%)
(et ug/m*)
T = PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
= ¥ 12 10.0008|0.0027 [ 0.0001 | 0.0047 | 0.0493 |0.2289 | 0.0007 | 0.0890 | 0.0000 | 0.0581 | 0.0025 | 0.0368
| 16 0.0022 | 0.0063 | 0.0003 | 0.0031 {0.0692 | 0.3280| 0.0010 | 0.0971 | 0.0000 | 0.0620 | 0.0057 | 0.0640
HEAEE 15 ]0.0027|0.0059 | 0.0004 | 0.0024 | 0.0693 | 0.1620| 0.0012 | 0.0824 | 0.0000 | 0.0506 | 0.0011 | 0.0204

e
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%H%I - | -71% | -54% | -70% | 95% | -29% | 41% | -40% | 8% | 0% | 15% | 132% | 81%
CHH

- -64% | -57% | -67% | 49% | -29% | -30% | -29% | -8% 0% -6% | -56% | -42%
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0.0061 | 0.0004 | 0.0020 | 0.0064 | 0.0342 | 0.2385 | 0.0028 | 0.0437 | 0.0846 | 0.0797 | 0.0017 | 0.0000
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0.0631 | 0.0048 | 0.0011 | 0.0258 | 0.0365 | 0.3726 | 0.0034 | 0.0304 | 0.2022 | 0.1405 | 0.0214 | 0.000
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